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Comprehension(Skimming and scanning) (15minutes) 1.[Y] [N]
[NG] 2.[Y] [N] [NG] 3.[YT[N] [NG] 4.[Y] [N] [NG] 5.[Y] [N]
[ING] 6.[Y] [N] [NG] 7.[Y] [N] [NG] 8.Typical customers of a
landfill are .9.To dispose of a ton of trash in a landfill,
customers have to pay tipping fee of . 10. Materials that are
not permitted to be buried in landfills should be dumped
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B1L[A][BI[C] [D]16. [A] [B] [C] [D] 21.[A] [B] [C] [D] 26.
[A][BI [C] [D]I31.[A] [B] [C] [D] 12.[A] [B] [C] [D] 17. [A] [B]
[CI[D]22. [A] [B] [C] [D] 27. [A] [B] [C] [D]32.[A] [B] [C] [D]
13.[A] [BI [C] [D]18. [A] [B] [C] [D] 23.[A] [B] [C] [D] 28. [A]
[B] [C] [D]33.[A] [B] [C] [D] 14.[A] [B] [C] [D] 19. [A] [B] [C]
[D]24.[A] [B] [C] [D] 29. [A] [B] [C] [D] 34.[A] [B] [C] [D]
15.[A] [B][C] [D] 20. [A] [B] [C] [D]25. [A] [B] [C] [D] 30. [A]
[B] [C][D] 35.[A] [B] [C] [D]. Partll Section C Russia is the
largest economic power that is not a member of the World Trade
Organization. But that may change. Last Friday, the European Union
said it would support Russias (36) to becomea W.T.O
member. Representative of the European Union met with
Russian(37) _ in Moscow. They signed a trade agreement that
took six years to(38) . Russia called the trade
agreement(39) It agreed to slowly increase fuel prices




within the country. It also agreed to permit(40) In its
communications industry and to remove some barriers to trade.
In(41) for European support to join the W.T.O, Russian
president Putin said that Russia would speed up the(42) to
approve the Kyoto Protocol, and international(43) _ agreement
to reduce the production of harmful industrial

gases.(44) . Russia had signed the Kyoto Protocol,
but has not yet approved it. The agreement takes effect when it has
been approved by nations that produce at least 55 percent of the
worlds greenhouse gases.(45) . The United
States, the worlds biggest producer, withdrew from the Kyoto
Protocol after President Bush took office in 2001. So, Russias
approval is required to put the Kyoto Protocol into effect.

(46) Russia must still reach agreement with China,
Japan, South Korean and the United States. [J [ [J 2 [1 Answer
Sheet 201 Part IV Section A Section B
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